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Implementation of Genetic Algorithms on a PC Cluster with Giga-bit Networks

ooo0oo»™wWooooo»2x000009
Tomoyuki HIROYASU, Mitsunori MIKI and Takeshi NAKANO

100000000 DO O tomo@is.doshisha.ac.jp
20000000000 mmiki@mail.doshisha.ac.jp
JpOoOoOoooooooaooo

In this study, a PC cluster using the Myrinet network is constructed.

Myrinet is one of giga bit

networks and has wide band width and short communication latency. A genetic algorithm is performed
on the PC cluster and TSP problems are solved. At the same time, the implementation of GA on the PC

cluster is discussed.
cluster with Myrinet has a short latency.
Myrinet compared with the Ethernet.
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It is clarified that it is good to send a pair of genes to each node, because the PC
It is also pointed out that the load balance is very good with

Genetic Algorithms, PC Cluster, Myrinet, Parallel Computing
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